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Cluster: 0177 ptr; resid: 0.30; r/c: 24/78

x.range

upstream meme PSSM #1; e=1e−07

1 3 5 7 9 111 3 5 7 9

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=630

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211
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1786025932

35240

14401

29666

31650

33773

33814

34998

35067

35691

36106

43269

43371

44742

45323

45547

45676

45877

46323

46622

47168

48819

49232

string −500 −400 −300 −200 −100 −1
34998NA
45547−0.11
33814−1.05
35067−1.15
43371−1.16
43269−1.38
46323−1.43
14401−1.52
47168−1.61
45323−1.63
36106−1.76
44742−1.78
33773−2.10
31650−2.18
45877−2.36
48819−2.44
29666−2.45
46622−2.55
35240−2.72
49232−3.12
17860−3.32
35691−3.75
45676−5.34
25932−5.41

log10(P) upstream meme1 2 log10(P.clust)=−2.27; 24 seqs; 24 uniq
c(0.5, 2.5)
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